Frid 2 A3 R (A3 RER] —HEPRFR o742
112 # 8 7 ig3r

AR **ZZ‘E}# L\l —\_L%
R 2

%*E

fop
R I A RN AL LS NS T S AT FR ey
w2 EZ R4 o
FEOE 7

SO FTBTGRE R 2 ARFERY AR o) DR AR A
s BRI AR NERES (UFTIRLER)

%ﬁ«4ﬁﬂv@mgﬁmlﬁﬁﬂﬁwé@éﬁaﬁgjaa

(=) »~# 2 112/09/04~112/11/20 #p F H14x2 @ 5 4 3R 1 2 4y S
‘11 112/09/04~112/11/20 ) B 552 43 3 % 48 14 & 4 %R 3F Sy
C)HRFERTFIRIL3p 2 KEF > BELFIRNLT T %K
(m) » &30P 3t 1121230 © B2 R > = & 5400 A 11212/7 1+ bz L
- S EE
(=) ~&EsdkFit 112/12/29 % = & 1 = & sy 7o 113/01/05 % = & > 33% % @ kb i
FIAE o
(=) FRIRESFFD - &7 FI Kl * Pad - 50 S0 EF F0 8Kz 0T HE ¥
F B 0 i 45 L Google Meet € k% -
(2) d WFm&R ™ iPad 4 & 7 & 3m 2 T4 B fx Kahoot! i3 » i » 5L = 78 (4e 821) 1% 4 ¢
fis o #-iPad B L > B A2 FELHE -
() &EHH24p7 0 0 &30d 3B F FR(EMGE > 2 H6 iPad 1) -
(1) B2 ELITAFEFLELP L -
(%) 728780 FMEREHiPadfFBr 4 &4
E‘ﬁ@ﬁ%-
- LR R FIALP AE MR ALE 0 FAE - A0 N T OEE 20 A8 A K - B o
S PR EERRIGREE B S BRI E ALY RS H
B APRi REBFHEE% > HBpprpk o



https://forms.gle/JdUrZHCoQPpgFX4ZA

NEFERBBHRARESBERERBELESKE
— -~ GARBOWEERE: - 2178 R KEE B B G YR -
o RBfEERRE > BEEREREE DENESETEE (L S 3 o TSR - —

YR PR E B EESERANEEE o (—IE— ARIR)
= OPEEE HEREEARS > SETEATS RIS e A BT -
N F BE

(s BB B = R K
(175 (50 FH B 3 = (5 L R R )

(A}t H & Hh kG

11/16(PU)12 : 30-13 : 00 B E=E(Z)
11/23(PU)12 : 30-13 : 00 B E=E(Z)

EEF R HEliw
[FE 11 A 11 HAR)MBRAREHHERIEHEREE ]

NEHRBERRBEEBEREBRAZELESKE
— -~ AROWEERE: - 2175 5 KEE B B G YR -
o (BIEERRE > SEERENAE ENESEEEE (3t 5 ) FEE S E L
{8 BESERANEEE - (—HE— ABIR)
=~ AHEEE R ARG o SFIEATS R BOS R LR B -

N\ %= 3
[CIfiefo A RS B = 1 7R oK
T P S R (BB ) R ER)
LR H 1 SR
11/16(P9)12 : 30-13 : 00 B ()
11/23(PT)12 : 30-13 : 00 B (D)

EEiESa Al

[(FE 11 B 11 HO)NBARER B EREHERE ]




tFERBBHRARESBERERAELESKE

— PR ERE B » W0 75 K 2 B A I ] -
- RIBTEERM - FEZHRNEE HEEZEFEE (3t 5 3 ESECE -
%> HESERAEHEE - (—HE— ARIR)
= WHEE & HERFADEFS - S5HRAlE MBS IR REBEAT -
+ £ Bt
ClfiefsE A SRS B = R TR K
CIRE {8 F BB B 2 (R R )

L) =] B
11/30(PU)12 : 30-13 : 00 B E=E(Z)
12/07(9)12 : 30-13 : 00 B E=E(Z)

[ = Hhlw
[FE 11 B 11 HAR)MBAREHNFHERIEHZEME )
tFEREBRRBESEREAERAZELESTE

— R (BN L > WA 75 oK 55 A B8 A A -
- RIBTEERME - BEZFRRNEE LEEZEEE (3t 5 3P ESECE -

&> HEERAEDELE - (—HE— ARR)
= WHEEE BN OEERS - SBHRATS B R LB AT -

+ £ Bt

(s FH RIS B = YRR oK

TR FH BB R B (R ) T B )

LR H 1 SR
11/30(P9)12 : 30-13 : 00 B ()
12/07(74)12 : 30-13 : 00 B (D)

[ P e AR
[FE 11 A 11 HA)KBRENFHSERIEHZEME )




